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INSTRUCTIONS TO CANDIDATES

Answer any three questions choosing at least one question from each section. Each
question begins on a separate booklet. Each question carries 100 marks except the
statistical questions which carry the indicated marks which will be converted into a
mark out of 100, Relate your answer and examples to the Zimbabwean context.
Statistical tables will be provided.

Section A: Research Methods

1. Justify the relevance of any four types of validity an educational researcher
would use in carrying out research.
(100 marks)

2. Use the 'paradigms debate’ to argue for mixed methods research approach.
(100 marks)

3. Analyse the role of triangulation in the conduct of research.
(100 marks)

Section B: Statistics

4, Teachers encourage their students to study hard because there is a strong
belief that the more hours students spend studying, the better the students’
academic performance in tests. A randomly selected group of ten (10) students
were asked the number of hours they spent studying in preparation for their
statistics test, The mark they got in the test was then recorded.
The following information was obtained.
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Student | A B C D E F G H l J

Study 18 18 20 12 22 10 24 20 26 8
hours

Tests 66 70 72 58 74 62 78 74 82 54
| scores

(a) Calculate the Spearman rank order correlation coefficient and use the

calculated value to determine whether it is true the more hours students spend

studying for tests the better their academic performance [8 marks]
(b) State any two factors which could have influenced the performance of the

students in the tests. [2 marks]

(c) If a distinction was pegged at 1.25 Standard Deviation {5D) below the mean,
which students if any got a distinction in the test? [4 marks]

(d) If the pass mark was pegged at 1.6 Standard Deviation (5D) below the mean,
which student if any failed the test [4 marks]

(e) Calculate the percentile rank of student H. [2 marks]

(f) Draw a normal distribution curve and on it mark the approximate position of
student H. [5 marks]

5. The values below give the resting pulse rate of 20 students after a Physical
Education exercise.

Student | 1 2 3 4 15 [6 17 |8 [9 [10[14]12 |13 14|15 |16 |17 |18 119 |20
Pulse 56 1 60 165 |70 |64 | 66 |72 |80 |64 64 | 60|58 | 69|71 |68 78|64 |65 66 | 70
rate

(a) Find the (i) mean (ii) mode (iii) median (iv) range (v) inclusive range
{5 marks)

(b) Using an appropriate class interval size, show values in a grouped frequency

table showing the following columns:
(i} Class interval (ci)

(i)  Leaf
(i)  Frequency (f)
(iv)  Cumulative frequency (cf)
(v}  Midpoint {mp), and

(viy fmp (6 marks)
(c) Find the (i) mean (ii) mode (iii) median of the values and explain why these
differ from those obtained in 4a above, (9 marks)
(d) Draw a histogram to show the distribution of the values (5 marks)

-END OF PAPER-
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